

9504 Custodial Equipment and Supplies

AWARD ANALYSIS

Last process date: Aug 4, 2022 11:15 AM			Best Bid							
			2nd Best Bid							
Row# Items	Quantity	nit of asure	Supplier	Bid Price Field (USD)	Bid Value - Bid Price Field (USD)	anufacturer Brand/Manufacturer Identification Number	Item Description	Quantity Currently in Stock	Lead Time (in days)	NBOE Comments
1 Walk Behind Lawn Mower - DeWalt Model # DCMW220P2	8 Each	Uni	nited Sales	598.50	4,788 DeWalt	DCMW220P2		0	3-5 Business days	Award
2 Power Pressure Washer - Simpson Model # PS60995	20 Each	Uni	nited Sales	1097.42	21948.4 Simpson	PS60995		0	3-5 Business days	Award
2 Power Pressure Washer - Simpson Model # PS60995	20 Each	PJP	P Onlne	2727.27	54545.4 MiTM	CA-3504-1MAH	3500PSI gasoline pressure washer. 3.5gpm with 389ccHonda	5	10 to 15 days	
3 Backpack Blower: 75.6 cc Engine Displacement, 206 mph, 706 cfm Max. Air Flow. Makita	7 Each		nited Sales	880.60	6,164 Makita	EB7660TH			3-5 Business days	Award
4 Li-Ion Battery, Handheld Leaf Blower - EGO Model # LB5804	10 Each		nited Sales	534.11	5,341 EGO	LB5804		0	3-5 Business days	Award
5 Outdoor Litter Vacuum, Drive Type: Shaft - Billy Goat Model # LB352	78 Each		nited Sales	1,167.89	91,095 Billy Goat	LB352		0	3-5 Business days	Award
6 Utility Vehicle:2 Seating Capacity, Gas, Single Cylinder OHV, 13.5 Horse Power, Auto, 4	5 Each			.== .=				-		
7 String Trimmer: Gas, 17 inch, 59 inch Shaft Long, Straight, 25.4cc, 2 Stroke. Gas Fuel Type	29 Each 25 Each		nited Sales	478.93 2,465.76	13,889 SRM 61,644 Ariens	266 921046		0	3-5 Business days	Award Award
8 Snow Blower: Gas Fuel Type, 28 inch Clearing Path, 14 inch Auger Diameter, 21 inch 9 Cordless Hedge Trimmer Kit, Double-Sided Blade Type, 24 inch Bar Length,18V Electric.	10 Each		nited Sales nited Sales	923.94	9,239 Milwaukee	921046 2726-21HD 48-11-1880			3-5 Business days 3-5 Business days	Award
10 Zero Turn Mower: 23 Horse Power (HP), 52 inch Cutting Width, 1-1/2 inch to 4-1/2 inch	5 Each		liteu sales	923.94	9,239 Willwaukee	2720-21HD 48-11-1880		U	3-3 Busiliess days	Awaru
11 Tow Broadcast Spreader, 110 pound Capacity, Broadcast Drop Type, Pneumatic Wheel	21 Each		P Onlne	314.26	6,599 Agri-Fab	45-0527	exact as described	0	3-5 Business days	Award
11 Tow Broadcast Spreader, 110 pound Capacity, Broadcast Drop Type, Pneumatic Wheel	21 Each		nited Sales	348.42	7,317	Agri-Fab	45-0527	0	3-5 Business days	7 twell d
12 2022 Bobcat UW56 Utility Work Machine Part #M1225. Engine 61HP 2.4L	3 Each		bcat of North	85,812.13	257,436 Bobcat Compa			Three (3)	30-45 days if PO received with	Award
13 2022 Bobcat UV34 Gas Utility Vehicle Part #M1503	6 Each		bcat of North	26,981.48	161,889 Bobcat Compa		2022 Bobcat UV34 Gas Utility Vehicle with Enclosed Operator Cab		30-45 days if PO received with	Award
14 Hydraulic Chain Saw 75 inch Long Reach, 13 inch Cutting Capacity, Hydraulic Flow Rate 7	15 Each	Uni	nited Sales	2,763.60	41,454 Greenlee	#38568			3-5 Business days	Award
15 Lift Pallet Jack, 4400 Pound Load Capacity, 63 inch x 27 inch x 48 inch - Grainger Model #	13 Each	Uni	nited Sales	702.45	9,132 Grainger	55NR94		0	3-5 Business days	Award
15 Lift Pallet Jack, 4400 Pound Load Capacity, 63 inch x 27 inch x 48 inch - Grainger Model #	13 Each	PJP	P Onlne	750.00	9,750 CROWN	PTH	5000lb Electric Pallet Jack, Fork length 48", Fork spread 27"	5	10 TO 15 DAYS	
16 2020 Polaris Ranger 570 EPS Silver Pearl, Mid-Size, Model # R20MAE57BH - Pick-up Truck	5 Each									
2020 Polaris Sportsman 570 EPS Utility Vehicle. Model A20SEJ57A7 Stock #639760. Fury										
17 Red	10 Each	1								
18 2020 Polaris/ Ranger 1000 / Stock # R20TAE99A1. Sage Green	5 Each									
Cordless Backpack Vacuum: 55 cfm Vacuum Air Flow, 15.2 lb. Weight. 76 decibel Sound										
19 Level. Milwaukee Model # 0885-20 48-11-1880	20 Each	Uni	nited Sales	867.89	17,358	Milwaukee	0885-20 48-11-1880	0	3-5 Business days	Award
Cordless Backpack Vacuum: 55 cfm Vacuum Air Flow, 15.2 lb. Weight. 76 decibel Sound	30 Fash	DID	D Onlan	1256.24	25124.8 KARCHER	VA12042720	BACK PACK VACUUM, BVL 5/1 BP 36V LITHIUM ION BATTERY 5 LITER. 9.9 LBS		2 F Business dave	
19 Level. Milwaukee Model # 0885-20 48-11-1880 Cordless Backpack Vacuum: 55 cfm Vacuum Air Flow, 15.2 lb. Weight. 76 decibel Sound	20 Each	PJP	P Onlne	1256.24	25124.8 KARCHER	KA13942720	GoFree Flex Pro II, 12 Ah, 6 qt. Cordless Backpack Vacuum w/		3-5 Business days 14-21	
19 Level. Milwaukee Model # 0885-20 48-11-1880	20 Each	Ara	amsco	1,654.76	33,095 ProTeam	ProTeam 107644	Xover Multi-Surface Telescoping Wand Tool Kit	6	14-21	
13 Level. Willwaukee Woods # 0865-20 46-11-1660	20 Laci	Ala	anisco	1,034.70	33,033 FT0Team	FIOTESIII 107044	20 Gallon Tank Stainless Steel Unit with 1.5" vaccum hose and	U		
20 Gallon Tank Size, Stainless Steel, 1-1/2 inch Vacuum Hose Diameter Wet/Dry Vacuum							tools Wet Dry Vacuum. Includes Front mount squeegee and			
20 with Squeegee and Tools -122V, Tornado Model # 94236	20 Each	PJP	P Onlne	756.08	15,122 MERCURY	WVC20+WVS20		10	10 TO 15 DAYS	Award
,										
20 Gallon Tank Size, Stainless Steel, 1-1/2 inch Vacuum Hose Diameter Wet/Dry Vacuum							20 Gallon Tank Size, Stainless Steel, 1-1/2 inch Vacuum Hose		45	
20 with Squeegee and Tools -122V, Tornado Model # 94236	20 Each	Ara	amsco	853.87	17,077 Tornado	Tornado 94236	Diameter Wet/Dry Vacuum with Squeegee and Tools -122V	0		
Viper Shovel Nose Wet Dry Vacuum Tool Kit w/24 inch front-mount squeegee Model										
21 SN18WD	20 Each	Spr	ruce Industries	737.80	14,756 TRIPLE S	#86040	WET DRY VACUUM	0	7	Award
Viper Shovel Nose Wet Dry Vacuum Tool Kit w/24 inch front-mount squeegee Model							Shovel Nose Wet Dry Vacuum Tool Kit w/24 inch front-mount		14-21	
21 SN18WD	20 Each	Ara	amsco	914.09	18281.8 Viper	SN18WD	squeegee	2		
Viper Shovel Nose Wet Dry Vacuum Tool Kit w/24 inch front-mount squeegee Model	2015 1			000.54	40.000	2140145			40. 45.1	
21 SN18WD 2" Inch High Water Transfer Pump with portable Honda GX Engine iBE HP 126 GMP HP-	20 Each	PJP	P Onlne	999.61	19,992 Viper	SN18WD	exact as described	9	10 to 15 days	
22 2065HR	20 Each									
Karcher Auto Walk Behind Floor Scrubber Drier BD 50/50 C BP (105 AH) Scrubber Drier	ZU LdCI									
23 Model 1.127-029.0	10 Each	PIP	P Onlne	3,241.45	32,415 KARCHER	KA11270290	As Specified	0	15 days	Award
Karcher Auto Walk Behind Floor Scrubber Drier BD 50/50 C BP (105 AH) Scrubber Drier	20 200		· Omic	3)2 12.13	32,123 10 11011211	10.12127.0230	715 Specimed		15 4475	7.111.0
23 Model 1.127-029.0	10 Each	Spr	ruce Industries	5,000.00	50,000 TRIPLE S	#86006	FLOOR SCRUBBER	0	7	
							20" Scrub Path; 105 ah Wet battery, 12 gal Fresh/12 gal Waste			
Karcher Auto Walk Behind Floor Scrubber Drier BD 50/50 C BP (105 AH) Scrubber Drier							water, 155 RPM Brush Speed, Onboard Charger, Traction Drive, 5			
23 Model 1.127-029.0	10 Each	Ara	amsco	9,132.53	91,325 Nilfisk Advanc	ce SC500 56384686	hour continuous run time	0	45	
										Rejected, specifications
Walk Behind Floor Scrubber, Disc Deck, 20 in Cleaning Path, 105 Ah Battery. Dayton Mfr.										require substantial revisions
24 Model # 460U42	3 Each	Spr	ruce Industries	5,000.00	15,000 TRIPLE S	#86006	FLOOR SCRUBBER	0	7	require substantial revisions
										Rejected, specifications
Walk Behind Floor Scrubber, Disc Deck, 20 in Cleaning Path, 105 Ah Battery. Dayton Mfr.							20", 16-gal, pad-assist drive, pad driver, 31" squeegee assembly,			require substantial revisions
24 Model # 460U42	3 Each	Ara	amsco	5,721.18	17,164 Nilfisk Viper A	S5160 56384812	10-amp charger, 105 a/h AGM batteries	U	45	
Wells Debind Floor Carribbon Disc Deals 20 in Classics Dath 405 At Dath							WALK BELIEVE 30" DISC DATTEDY SCRUPPED WITH ON 20122			Rejected, specifications
Walk Behind Floor Scrubber, Disc Deck, 20 in Cleaning Path, 105 Ah Battery. Dayton Mfr. 24 Model # 460U42	3 5	חוח	P Onlne	8,828.00	26 484 105	IZONIPTA	WALK BEHIND 20" DISC BATTERY SCRUBBER, WITH ON-BOARD CHARGER	2	15 days	require substantial revisions
27 WOUCH # 400042	3 Each	PJP	. Jillie	0,628.00	26,484 ICE	I20NBTA	CHANGEN	<u> </u>	15 days	



9504 Custodial Equipment and Supplies

AWARD ANALYSIS

Last process date: Aug 4, 2022 11:15 AM Best Bid 2nd Rest Rid Bid Value - Bid Price id Price Field Items Lead Time (in days) **NBOE Comments** Field (USD) Reject, not an approved 10000 TRIPLE S #86006 FLOOR SCRUBBER 25 Walk Behind Self Propelled Floor Scrubber ICE i20NBTL+ Each Spruce Industries 5000 equivalent not as specified 25 Walk Behind Self Propelled Floor Scrubber ICE i20NBTL+ PJP Onlne 11676 23352 ICE 20NBTL+ 5 DAYS Each As Specified Award Vacuum for Boiler DeWalt Model # DCV585T2/DCB606. Dust Extractor: Cordless, 60 V Vacuum for Boiler DeWalt Model # DCV585T2/DCB606, Dust DC, HEPA, Dry/Wet, 2 gal Tank, Part of OSHA Table 1 Compliance. DeWalt Mode Vacuum for Boiler DeWalt Extractor: Cordless, 60 V DC, HEPA, Dry/Wet, 2 gal Tank, Part of A&M Industrial Inc. 1,020.00 20,400 Model # DCV585T2/DCB606. DCV585T2/DCB606 OSHA Table 1 Compliance. DeWalt Mode DCV585T2 45 days Award Vacuum for Boiler DeWalt Model # DCV585T2/DCB606. Dust Extractor: Cordless, 60 V DC, HEPA, Dry/Wet, 2 gal Tank, Part of OSHA Table 1 Compliance. DeWalt Mode 20 Each United Sales 1,093.50 5 Business days Battery 20V/60V Flexvolt, Liattery 20V/60V Flexvolt, L Ion, 1 Batteries Included, 6 Ion, 1 Batteries Included, 6 Ah, Flexvolt, (1) Battery. Battery 20V/60V Flexvolt, Li-Ion, 1 Batteries Included, 6 Ah, Flexvolt, (1) Battery. DeWalt Ah. Flexvolt. (1) Battery. Battery 20V/60V Flexyolt, Li-Ion, 1 Batteries Included, 6 Ah. 27 Model DCB606 A&M Industrial Inc. 249.00 20 Each 4.980 DeWalt Model DCB606 DeWalt Model DCB606 Flexvolt, (1) Battery. DeWalt Model DCB606 8-5 Business days Award Battery 20V/60V Flexvolt, Li-Ion, 1 Batteries Included, 6 Ah, Flexvolt, (1) Battery. DeWalt 330.15 6,603 DeWalt DCB606 27 Model DCB606 20 Each Inited Sales -5 Business days Airflow: 867 CFM | 1473 CMH Static pressure: 0.92 in. (H2O) | 229.0 Pa Power/Amps (115V, 60 Hz): 2.5 A (high speed), 2.2 A (medium), 1.9 A (low) Rejected, specifications Weight: 24.3 lbs. | 11.0 kg equire substantial revisions Dimensions (L × W × H): $17.4 \times 15.0 \times 17.3$ in. | $44.2 \times 38.1 \times 43.9$ Horizontal, Vertical 3 Speed Portable Blower Dryer, 1,648 CFM High, 120V Ac Voltage 226.76 4535.2 DRI-EAZ 124315 DRI-EAZ 3-5 Business days 28 Floor Blower -Dayton/ Mfr. Model # 4XLE2 20 Each Aramsco Rejected, specifications Horizontal, Vertical 3 Speed Portable Blower Dryer, 1,648 CFM High, 120V Ac Voltage require substantial revisions TRIPLE S 28 Floor Blower -Dayton/ Mfr. Model # 4XLE2 252 43 048 60 #86023 FLOOR BLOWER Spruce Industries Horizontal, 3 speed, portable, air mover, blower. 120V, 1/2 HP, tip-Rejected, specifications Horizontal, Vertical 3 Speed Portable Blower Dryer, 1,648 CFM High, 120V Ac Voltage back height adjustment and steel kickstand for operating at require substantial revisions 28 Floor Blower -Dayton/ Mfr. Model # 4XLE2 20 Each PJP Onlne 262.20 5,244 Mercury 90-2000 various angles. NEW GFCI and daisy chain capability TO 10 DAYS Rejected, specifications Horizontal, Vertical 3 Speed Portable Blower Dryer, 1,648 CFM High, 120V Ac Voltage require substantial revisions 4XLE2 28 Floor Blower -Dayton/ Mfr. Model # 4XLE2 20 Each Inited Sales 589.38 11,788 Dayton 5-5 Business days Powered Steel-Frame Drum Hand Truck, Load Capacity 800 lb., 60 1/2 inch x 24 1/2 inch 6,945.74 34,729 Valley Craft 29 x 20 inch. Valley Craft Model # F89503 nited Sales F89503 3-5 Business days Award Each IPC private labels the same unit for Uline as H9424 - same unit / 20" walk behind scrubber with 2 AGM batteries, your choice of brush or pad driver, on board charger, 11 gallon solution tank / 12 30 Compact Auto Floor 20"Diameter Scrubber, 32 x 43 x 51, 160 RPMs. U-Line H-9424 5 Each PJP Onlne 5,337.53 26,688 IPC Eagle CT45B50 gallon recovery tank, 120 minute run time, 28" squeege 10 TO 15 DAYS 30 Compact Auto Floor 20"Diameter Scrubber, 32 x 43 x 51, 160 RPMs. U-Line H-9424 H-9424 7,155.00 35.775 U-Line -5 Business days nited Sales Lift-and-Roll Desk & Furniture Dolly, 600 lb. Load Capacity, 10 1/4 inch Raised High 31 Dayton Model #30E987 Commercial Grade, Window Air Conditioner, 21,500 BtuH, Cooling, 10.3 CEER Rating, 2,463.55 49,271 Friedrich KCM21A30 32 230V AC Friedrich Model # KCM21A30 20 Each Inited Sales -5 Business days Award 225FP17H 33 Viper AS430 17" inch Electric Automatic Floor Scrubber (Buffer Machine), Cable 120V 10 Each PJP Onlne 858.6 8,587 PIONEER ECLIPSE ELECTRIC FLOOR MACHINE 17", 175 RPM W/ PAD DRIVER DAYS Award 33 Viper AS430 17" inch Electric Automatic Floor Scrubber (Buffer Machine), Cable 120V 2,240.00 22,400 TRIPLE S #86004 10 Each Spruce Industries 17" inch Electric Automatic Floor Scrubber (Buffer Machine), Cable 33 Viper AS430 17" inch Electric Automatic Floor Scrubber (Buffer Machine), Cable 120V 2,569.91 AS430 25,699 Nilfisk Viper 120V 10 Each



9504 Custodial Equipment and Supplies

AWARD ANALYSIS

Best Bid Last process date: Aug 4, 2022 11:15 AM

Last proc	ess date: Aug 4, 2022 11:15 AM		Best Bid 2nd Best Bid							
Row#	Items	Quantity Unit of Measure	Supplier	Bid Price Field (USD)	Bid Value - Bid Price Field (USD) Brand/Manufactur	rer Brand/Manufacturer Identification Number	Item Description	Quantity Currently in Stock	Lead Time (in days)	NBOE Comments
34	ICE IB2000 Floor Burnisher with Dust Control - 20" inch, 2000 Revolutions Per Minute (RPM). 1.5 Horse Power	10 Each	Spruce Industries	1,460.00	14,600 TRIPLE S	#86013	FLOOR BURNISHER	0	7	Rejected, specifications require substantial revisions
34	ICE IB2000 Floor Burnisher with Dust Control - 20" inch, 2000 Revolutions Per Minute (RPM).1.5 Horse Power	10 Each	Aramsco	2,318.88	23,188.80 ICE IB2000	IB2000	Floor Burnisher with Dust Control - 20" inch, 2000 Revolutions Per Minute (RPM).1.5 Horse Power	0	45	Rejected, specifications require substantial revisions
34	ICE IB2000 Floor Burnisher with Dust Control - 20" inch, 2000 Revolutions Per Minute (RPM).1.5 Horse Power	10 Each	PJP Onlne	2,372.00	23,720 ICE	ICEIB2000	AS SPECIFIED	15	21 DAYS	Rejected, specifications require substantial revisions
35	KaiVac K1250 Portable Compact No-Touch Cleaning System	5 Each	PJP Onlne	3763.72	18818.6 Kaivac	KV1250	exact as described	2	5 TO 10 DAYS	Award
	KaiVac K1250 Portable Compact No-Touch Cleaning System KaiVac K1250 Portable Compact No-Touch Cleaning System	5 Each	Aramsco	3,877.10	19,386 KaiVac	KV1250	Portable Compact No-Touch Cleaning System	0	45	Awaru
25	KaiVac K1250 Portable Compact No-Touch Cleaning System	5 Each	Spruce Industries	4,350.00	21,750 NOBLES	#9007354 - ASC-15	PORTABLE CLEANING SYSTEM	0	7	
36	Buffer Machine 22" 20 Gallon Ride on Floor Scrubber 140 AH Battery. Toolots 9VUJYAGVH	7 Each	Spruce Industries	8114	56798 TRIPLE S	#86014	FLOOR SCRUBBER		7	Rejected, specifications require substantial revisions
	Duffer Machine 22" 20 Calley Bide on Floor Combber 140 All Bottom, Toolete								45	Rejected, specifications
36	Buffer Machine 22" 20 Gallon Ride on Floor Scrubber 140 AH Battery. Toolots 9VUJYAGVH	7 Each	Aramsco	8,353.90	58,477.30 Nilfisk Viper	AS530R	Viper Ride on Floor Scrubber	0	45	require substantial revisions
36	Buffer Machine 22" 20 Gallon Ride on Floor Scrubber 140 AH Battery. Toolots 9VUJYAGVH	7 Each	PJP Onlne	9,439.43	66,076 Minuteman	MaxRide 20" Sport - A- MR20DSQP	20" MicroRider Scrubber, 18 Gallon Solution/Recovery Tank, 140AH Battery Pack with On Board Charger, Includes Pad Driver and 5 years parts warranty (defect in workmanship), 3 years labor warranty, 12 years poly tank, local distributor can service mac	1	15 to 20 days	Rejected, specifications require substantial revisions
37	Ducted Dehumidifier: 65 pint of Water Per Day, Daily Water Removal Capacity 160 cfm Air Flow @ 0.0 inch wg, For 8 inch Duct Dia. Honeywell Home Model DR65A3000 Electric Stand Alone Dryer 7 cubic ft. Dryer Capacity, Electric, Silver 27 in Width, 42 1/2 in	10 Each								
38	Height. Crossover Model #Elec Dryer Stand Alone	10 Each								
39	EZ Mop 360 Micro-Scrubber Minuteman Model #SN-D4MV03568	10 Each	Aramsco	4397.67	43976.7 Minuteman	EZ Mop	360 Micro-Scrubber Minuteman Model #SN-D4MV03568	0	45	Award
	EZ Mop 360 Micro-Scrubber Minuteman Model #SN-D4MV03568	10 Each	PJP Onlne	4,802.78	48,028 NACECARE	NUC 244NX - K-913741-C	244NX - Fast Effective cleaning on all hard floors 360 degree - Lightweight and easy to use compact 18" scrubber, leaves floors clean dry and safe. Weighs just 46 pounds. Up to 80 minutes of runtime Comes with one bat	1	10 TO 30 DAYS	
40	Powered Pallet Jack, 4,000 lb. Load Capacity, 70 inch x 27 inch x 52 inch. Dayton Model # 478N31	5 Each	PJP Onlne	8,625.22	43,126 CROWN	WP3235-45	4500lb capacity, 46.5" fork length, 27" spread, local mfg techs avail to work on unit when needed	2	30 to 120 days	Award
40	Powered Pallet Jack, 4,000 lb. Load Capacity, 70 inch x 27 inch x 52 inch. Dayton Model # 478N31	5 Each	United Sales	8,806.49	44,032			0	3-5 Business days	
	Force Quiet Clean Upright Vacuum Sanitaire Model # SC5845D		Aramsco	342.83	34,283 Sanitaire	SC5845D		27	3-5 Business days	Award
41	Force Quiet Clean Upright Vacuum Sanitaire Model # SC5845D	100 Each	Spruce Industries	360.75	36,075 SANITAIRE	SANITAIRE MODEL #SC5845D	SANITAIRE UPRIGHT VACUUM	0	7	
41	Force Quiet Clean Upright Vacuum Sanitaire Model # SC5845D	100 Each	United Sales	410.55	41,055 Sanitaire	SC5845D		27	3-5 Business days	
	Carpet Extractor ICE iE410. ICE (Intelligent Cleaning Equipment) Model #ICEIE410		Aramsco	4,396.92		56265505 (EX40 18LX)	Self Contained Carpet Extractor Solution Tank 12 gal Recovery 10 gal	0	45	Rejected, specifications require substantial revisions



9504 Custodial Equipment and Supplies

AWARD ANALYSIS
Last process date: Aug 4, 2022 11:15 AM

Last process date: Aug 4, 2022 11:15 AM		Best Bid 2nd Best Bid							
Row# Items	Quantity Unit of Measure	Supplier	Bid Price Field (USD)	Bid Value - Bid Price Field (USD) Brand/Manufacturer	Brand/Manufacturer Identification Number	Item Description	Quantity Currently in Stock	Lead Time (in days)	NBOE Comments
43 Rider Auto Scrubber ICE (Intelligent Cleaning Equipment) Model RS26L+	3 Each	Spruce Industries	15,570.00	46,710 TRIPLE S	#86015	AUTO SCRUBBER	0	7	Rejected, specifications require substantial revisions
43 Rider Auto Scrubber ICE (Intelligent Cleaning Equipment) Model RS26L+	3 Each	Aramsco	18,731.77	56,195 Nilfisk Advance	56381802 (SC3000 26D EcoFlex	Ride-On Scrubber 23" Scrub Path, 3.5 Hour Run Time, 21 gal.	0	45	Rejected, specifications require substantial revisions
Auto Scrubber, Transaxle Battery-Powdered. ICE (Intelligent Cleaning Equipment) Model			-, -			, , , , , , , , , , , , , , , , , , ,			
44 i28BTL	3 Each								
	. .								
45 3 ft. 375 lb. Load Capacity Fiberglass Stepladder. Werner Model#7403	30 Each	United Sales	202.20	6,066 Werner	#7403				Award
46 6 ft. 375 lb. Load Capacity Fiberglass Twin Stepladder. Werner Model #T7406	30 Each	United Sales	290.98	8,729 Werner	#7406		0	3-5 Business days	Award
47 0 ft 27 ft bland Consider filterature Standarder West and del # 7200	30 Fh	Halland Callan	450.43	42 702 Warran	# 7 200		0	2 E Duelle des deux	Accord
47 8 ft. 375 lb. Load Capacity Fiberglass Stepladder. Werner Model # 7308	30 Each	United Sales	459.43	13,783 Werner	#7308		U	3-5 Business days	Award
36 ft. Aluminum Extension Ladder, 32 ft. Extended Ladder 250 lb. Load Capacity, 72.0 lb.	30 Each	United Sales	989.63	20 690 Louisvilla	AE3236		0	3-5 Business days	Award
48 Net Weight. Louisville Model #AE3236	30 Eacii	Officed Sales	969.03	29,689 Louisville	AE3230		U	5-5 Busiliess days	Awaru
40 ft. Industry Ladder Size, Fiberglass, 40 ft. Extended Ladder, 300 lb. Load Capacity. 49 Little Giant Model #17440	50 Each	United Sales	1,842.57	92,129 Little Giant	#17440		o	2 F Dusinasa daya	August
49 Little Glant Model #17440	50 Each	United Sales	1,842.57	92,129 Little Glant	#17440		δ	3-5 Business days	Award
Chair Mat: Rectangular, For Laminate, Wood, Tile, Concrete and other Hard Surfaces.	450 5h	Halland Callan	120.01	40.437 Carlana	2001.76		0	2 E Duelle des deux	Accord
50 Grainger Model #29PL76	150 Each	United Sales	120.91	18,137 Grainger	29PL76		0	3-5 Business days	Award
Wastebasket: Rectangular, Black, 10 gal. Capacity, 15 1/4 in Width/Diameter Rubbermaid									
51 Model # FG295700BLA	200 Each	PJP Onlne	16.84	3,368 RUBBERMAID	FG295700BLA	exact as described	15	2 TO 5 DAYS	Award
Wastebasket: Rectangular, Black, 10 gal. Capacity, 15 1/4 in Width/Diameter Rubbermaid									
51 Model # FG295700BLA	200 Each	Aramsco	18.13	3,626 Rubbermaid	295700BK	Deskside Plastic Wastebasket, Rectangular, 10.25 gal, Black	0	<u>14</u>	
Wastebasket: Rectangular, Black, 10 gal. Capacity, 15 1/4 in Width/Diameter Rubbermaid 51 Model # FG295700BLA	200 Each	United Sales	21.89	4,378 Rubbermaid	FG295700BLA		55	3-5 Business days	
Trash Can: Round, Black, 55 gal Capacity, 26 1/2 inch Width/Diameter, 33 inch. Ht. 52 Rubbermaid Commercial Products Model # 1779739	150 Each	PJP Onlne	96.11	14,417 RUBBERMAID	RCP2600GY	same as described except it will be grey instead of black	36	3-5 Business days	Award
Trash Can: Round, Black, 55 gal Capacity, 26 1/2 inch Width/Diameter, 33 inch. Ht. 52 Rubbermaid Commercial Products Model # 1779739	150 Each	United Sales	122.46	18,369 Rubbermaid	#1779739		36	3-5 Business days	
Trash Can: Round, Black, 55 gal Capacity, 26 1/2 inch Width/Diameter, 33 inch. Ht. 52 Rubbermaid Commercial Products Model # 1779739	150 Each	Aramsco	123.92	18,588 Rubbermaid	265500GY	Round Brute Container, Plastic, 55 gal, Gray	0	14	
Container Dolly: Brute(R) Series, For 20 to 55 gal Container Capacity. Rubbermaid 53 Commercial Products Model # FG264000BLA	150 Each	PJP Onlne	50.54	7,581 RUBBERMAID	FG264000BLA	same exact as described	5	2 TO 5 DAYS	Award
Container Dolly: Brute(R) Series, For 20 to 55 gal Container Capacity. Rubbermaid 53 Commercial Products Model # FG264000BLA	150 Each	Aramsco	85.18	12,777 Rubbermaid	FG264000BK	Brute Round Twist On/Off Dolly, 250 lb Capacity, 18" dia x 6.63"h, Fits 20-55 Gallon BRUTE Containers, Black	0	14	
Container Dolly: Brute(R) Series, For 20 to 55 gal Container Capacity. Rubbermaid 53 Commercial Products Model # FG264000BLA	150 Each	United Sales	85.20	12,780 Rubbermaid	FG264000BLA		43	3-5 Business days	
Dust Mop Handle: Flat Mop, Quick Connect, Aluminum, Yellow. Rubbermaid Commercial 54 Products Model # FGQ75000YL00	150 Each	PJP Onlne	9.62	1,443 INFINITY 83	INF7060	DUST MOP HANDLEM SWIVEL STEEL, 60" QUICKCHANGE	60	14 DAYS	Award
Dust Mop Handle: Flat Mop, Quick Connect, Aluminum, Yellow. Rubbermaid Commercial Products Model # FGQ75000YL00	150 Each	Aramsco	15.79	2,369 Rubbermaid	FGQ75000YW	HYGEN 58" Quick-Connect Handle, Yellow	0	14	
Dust Mop Handle: Flat Mop, Quick Connect, Aluminum, Yellow. Rubbermaid Commercial Foundation of Products Model # FGQ75000YL00	150 Each	United Sales	18.84	2,826 Rubbermaid	FGQ75000YL00		302	3-5 Business days	



9504 Custodial Equipment and Supplies

AWARD ANALYSIS
Last process date: Aug 4, 2022 11:15 AM

Last process date: Aug 4, 2022 11:15 AM		Best Bid 2nd Best Bid							
Row# Items	Quantity Unit of Measure	Supplier	Bid Price Field (USD)	Bid Value - Bid Price Field (USD) Brand/Manufacturer	Brand/Manufacturer Identification Number	Item Description	Quantity Currently in Stock	Lead Time (in days)	NBOE Comments
Duster: Microfiber Head, Plastic Handle, 20 inch Long, White. Rubbermaid Commercial 55 Products Model # FGQ85200WH00	390 Each	PJP Onlne	42.50	16,575 FILMOP	1400A, 1086DK, TA22085	SPILLO DUSTER KIT, 35" EXTENSION HANDLE, 16' MICROFIBER DUSTING SLEEVE, WITH FRAME AND GRIP	20	14 days	Award
Duster: Microfiber Head, Plastic Handle, 20 inch Long, White. Rubbermaid Commercial 55 Products Model # FGQ85200WH00	390 Each	United Sales	43.47	16,953 Rubbermaid	FGQ85200WH00		276	3-5 Business days	
Duster: Microfiber Head, Plastic Handle, 20 inch Long, White. Rubbermaid Commercial 55 Products Model # FGQ85200WH00	390 Each	Aramsco	44.09	17,195 Rubbermaid	FGQ85200WH00	HYGEN Quick-Connect Flexible Dusting Wand, 28.38" Handle	26	3-5 Business days	
Pad Holder: 17 3/16 inch Frame Wd. Rubbermaid Commercial Products Model # 566 FGQS6000YL00	150 Each	PJP Onlne	4.46	669 INFINITY 83	DM29518	DUST MOP FRAME 18" X 5"	20	14 days	Award
Pad Holder: 17 3/16 inch Frame Wd. Rubbermaid Commercial Products Model # 56 FGQ56000YL00	150 Each	Aramsco	35.23	5,285 Rubbermaid	FGQ5600YL00	HYGEN Quick Connect S-S Frame, Wet/Dry Mop 17.19w x 3d, Aluminum, Yellow	0	7	
Pad Holder: 17 3/16 inch Frame Wd. Rubbermaid Commercial Products Model # 56 FGQ56000YL00	150 Each	United Sales	35.65	5,348 Rubbermaid	FGQ56000YL00		26	3-5 Business days	
Dust Mop: Microfiber, 18 inch Long, Launderable, 5 inch Depth, Pad End. Rubbermaid 57 Commercial Products Model # FGQ41200WH00	150 Each	PJP Onlne	10.92	1,638 INFINITY 83	DM24118	DUST MOP 18", BLUE MICRO FIBER, LAUNDERABLE	20	14 days	Award
Dust Mop: Microfiber, 18 inch Long, Launderable, 5 inch Depth, Pad End. Rubbermaid 57 Commercial Products Model # FGQ41200WH00	150 Each	Aramsco	13.94	2,091 Rubbermaid	FGQ41200WH00	Dry Room Pad, Microfiber, 18" Long, White	0	14	
Dust Mop: Microfiber, 18 inch Long, Launderable, 5 inch Depth, Pad End. Rubbermaid 57 Commercial Products Model # FGQ41200WH00	150 Each	United Sales	154.52	23,178 Rubbermaid	FGQ41200WH00		42	3-5 Business days	
Wet Mop: Microfiber, 22 oz. Dry Weight, 1 inch Headband Size, Blue. Rubbermaid 58 Commercial Products #1924812	150 Each	PJP Onlne	10.02	1,503 INFINITY 83	WM24824B	WET MOP COTTON/SYNTHETIC BLEND XL 5" HEAD BAND	400	2 days	Award
Wet Mop: Microfiber, 22 oz. Dry Weight, 1 inch Headband Size, Blue. Rubbermaid Commercial Products #1924812	150 Each	United Sales	24.70	3,705 Rubbermaid	#1924812		72	3-5 Business days	
Wet Mop: Synthetic, 16 oz. Dry Weight, 1 inch Headband Size, Green. Rubbermaid Commercial Products Model # 1924815	390 Each	PJP Onlne	7.79	3,038 INFINITY 83	WM24716B	WET MOP COTTON/SYNTHETIC BLEND MED. 5" HEAD BAND, GREEN	100	14 days	Award
Wet Mop: Synthetic, 16 oz. Dry Weight, 1 inch Headband Size, Green. Rubbermaid 59 Commercial Products Model # 1924815	390 Each	United Sales	14.16	5,522 Rubbermaid	#1924815		542	3-5 Business days	
Wet Mop Handle: String/Strip/Tube Mop, Side Gate, Fiberglass, Gray. Rubbermaid Commercial Products Model # FGH14600GY00	150 Each	PJP Onlne	10.62	1,593 INFINITY 83	INF7050	WET MOP HANDLE, 60" CLAMP STYLE	60	14 days	Award
Wet Mop Handle: String/Strip/Tube Mop, Side Gate, Fiberglass, Gray. Rubbermaid 60 Commercial Products Model # FGH14600GY00	150 Each	United Sales	32.58	4,887 Rubbermaid	FGH14600GY00		17	3-5 Business days	
Mop Bucket and Wringer: 8 3/4 gal Capacity, Yellow, Side Press. Rubbermaid Commercia 61 Products Model # FG758088YEL	300 Each	PJP Onlne	101.03	30,309 INFINITY 83	МРСМВОУ	MOP BUCKEY COMBO, 35 QT, WITH DOWN PRESS WRINGER. YELLOW	20	30 days	Award
Mop Bucket and Wringer: 8 3/4 gal Capacity, Yellow, Side Press. Rubbermaid Commercia 61 Products Model # FG758088YEL	300 Each	United Sales	135.95	40,785 Rubbermaid	FG758088YEL		86	3-5 Business days	
Lobby Broom and Dust Pan: 7 7/8 inch Sweep Face, 28 inch Broom Handle Lg. 62 Rubbermaid Commercial Products Model # 59JM15	702 Each	PJP Onlne	19.80	13,900 INFINITY 83	INF6119, INF6415	DUST PAN LOBBY W/ PLASTIC HOPPER. LOBBY BROOM FLAGGED 8' PLASTIC BRISTLE.	100	20 days	Award
Lobby Broom and Dust Pan: 7 7/8 inch Sweep Face, 28 inch Broom Handle Lg. 62 Rubbermaid Commercial Products Model # 59JM15	702 Each	United Sales	36.42	25,567 Rubbermaid	# 59JM15		322	3-5 Business days	
Janitor Cart: Shelf Count 3, Black, 34 gal Trash Bag Capacity, Rubber. Rubbermaid 63 Commercial Products Model # 1861427	300 Each	PJP Onlne	159.50	47,850 INFINITY 83	JANCARTGR	JANITOR CART, 6.4 CUBIC FEET. GRAY	0	30 days	Award
Janitor Cart: Shelf Count 3, Black, 34 gal Trash Bag Capacity, Rubber. Rubbermaid 63 Commercial Products Model # 1861427	300 Each	United Sales	959.79	287,937 Rubbermaid	# 1861427		50	3-5 Business days	
Black, General Purpose Plastic Tilt Truck, 27.0 cu ft., 850 lb. Load Capacity. Touch Guy 64 Model # 21VK419	100 Each	United Sales	944.06	94,406 Touch Guy	21VK419		0	3-5 Business days	Award



9504 Custodial Equipment and Supplies

AWARD ANALYSIS

Last process date: Aug 4, 2022 11:15 AM

Best Bid

2nd Rest Bid

Last process date: Aug 4, 2022 11:15 AM		Best Bid 2nd Best Bid							
Row# Items	Quantity Unit of Measure	Supplier	Bid Price Field (USD)	Bid Value - Bid Price Field (USD) Brand/Manufacturer	Brand/Manufacturer Identification Number	Item Description	Quantity Currently in Stock	Lead Time (in days)	NBOE Comments
High-Maneuverability Cube Truck, Cubic Foot Capacity 20.0 cu ft., 48 inch x 34 1/8 inch x 36 1/2 inch. Rubbermaid Commercial Products Model # FG461900BLA	100 Each	United Sales	941.89	94,189 Rubbermaid	FG461900BLA		18	3-5 Business days	Award
A-Frame, Sign Header Caution, Caution, Number of Printed Sides 2, HDPE, 25 inch x 11 66 inch x 26 inch. Rubbermaid Commercial Products Model #FG611277YEL	200 Each	PJP Onlne	11.19	2,238 INFINITY 83	INF119	A-FRAME, WET FLOOR, DOUBLE SIDE	30	14 days	Award
A-Frame, Sign Header Caution, Caution, Number of Printed Sides 2, HDPE, 25 inch x 11 66 inch x 26 inch. Rubbermaid Commercial Products Model #FG611277YEL	200 Each	United Sales	25.08	5,016 Rubbermaid	FG611277YEL		59	3-5 Business days	
Folding Safety Cone, Sign Header Caution/Cuidado, Wet Floor, Number of Printed Sides 67 4, Nylon. Handy Cone Model # 17194l	200 Each	United Sales	68.80	13,760 Handy Cone	171941		0	3-5 Business days	Award
68 Push Broom, 60" Handle L, 24"W Broom Quickie/ Mfr. Model #633. Black	100 Each	PJP Onlne	23.28	2,328 INFINITY 83	INF7081, INF36324	PUSH BROOM 24", 24 X3 IN SYNTHETIC FILL FLAGGED.	20	14 days	Award
68 Push Broom, 60" Handle L, 24"W Broom Quickie/ Mfr. Model #633. Black	100 Each	United Sales	27.73	2,773 Quickie	633		10	3-5 Business days	
Socket Wrench Set: 1/4 inch, 3/8 inch, 1/2 inch Drive Size, 99 Pieces, (53) 6-Poincht, 12-69 Poincht. Westward Model #33HD77	100 Each	United Sales	306.06	30,606 Westward	33HD77		0	3-5 Business days	Award
Solid-Deck Steel General Purpose Dolly, 2,000 lb. Load Capacity, 36 inch x 24 inch x 5 5/8 70 inch. Grainger Mfr. Model 2TUN3	100 Each								
Solid-Deck Steel General Purpose Dolly, 1,000 lb. Load Capacity, 24 inch x 18 inch x 4 inc 71 Grainger Model # 48J095	h 100 Each								
3650-Portable Generator. Portable Generator: Gasoline, 3,650 Watts, 4,550 Surge Watt: 72 30.4 Generator Amps, 14.0 hour run time. Champion Power Equipment Model # 20097									
Gum and Wax Remover: Aerosol Spray Can, 5 oz. Container Size, Ready to Use, Liquid. 73 Tough Guy Model # 2DCB9	312 Each	A&M Industrial Inc.	4.75	ZEP #1049550 GUM AND 1,482 WAX REMOVER	ZEP #1049550 GUM AND WAX REMOVER		500	7-10 DAYS	Award
Gum and Wax Remover: Aerosol Spray Can, 5 oz. Container Size, Ready to Use, Liquid. 73 Tough Guy Model # 2DCB9	312 Each	PJP Onlne	5.83	Spartan - 9oz can / 12 cans per case - price is EACH Can as bid specifies but sold as 1,819 12/Case	644500	Chewing Gum Remover is a combination of two liquefied gases that remove chewing gum, candle wax, and other gummy substances from carpets, upholstery, wood, plastic, and vinyl. Chewing Gum Remover instantly freezes chewing gum, candle wax and sticky s	120	5 to 10 days	
Tactical LED Handheld Flashlight: 19650/CR123 Battery, LED Rechargeable, 6.19 inch 74 Length, Aluminum, Maximum Lumens Output: 944 lm, Black. Pelican Model # 7600	78 Each	A&M Industrial Inc.	117.28	Tactical LED Handheld Flashlight: 19650/CR123 Battery, LED Rechargeable, 6.19 inch Length, Aluminum, Maximum Lumens Output: 944 lm, Black. Pelican Model 9,148 # 7600	Maximum Lumens Output:	, Tactical LED Handheld Flashlight: 19650/CR123 Battery, LED I Rechargeable, 6.19 inch Length, Aluminum, Maximum Lumens Output: 944 lm, Black. Pelican Model # 7600	0	30 DAYS	Award
Overboots, Men's, Fits Shoe Size 9 to 10, Mid-Calf Shoe Style, Rubber Outsole Material, 75 PR. Treds Overboots Model #14856	1 500 Each	A&M Industrial Inc.	56.35	Overboots, Men's, Fits Shoe Size 9 to 10, Mid-Calf Shoe Style, Rubber Outsole Material, 1 PR. Treds 28,175 Overboots Model #14856	Overboots, Men's, Fits Shoe Size 9 to 10, Mid-Calf Shoe Style, Rubber Outsole Material, 1 PR. Treds Overboots Model #14856	Overboots, Men's, Fits Shoe Size 9 to 10, Mid-Calf Shoe Style, Rubber Outsole Material, 1 PR. Treds Overboots Model #14856	0	30 DAYS	Award
76 Hip Wader, Men's, 10, Steel, Black, 31 inch inseam, 1 Pair. Lacrosse Model #109050	100 Each	A&M Industrial Inc.	171.67	Black, 31 inch inseam, 1 Pair	Hip Wader, Men's, 10, Steel, Black, 31 inch inseam, 1 Pair Lacrosse Model #109050	. Hip Wader, Men's, 10, Steel, Black, 31 inch inseam, 1 Pair. Lacrosse Model #109050	0	30 DAYS	Award
Walk Behind Spreader: 2.5 cu ft. Capacity, Rain Cover, Bagged Salt/Ice Melt. Buyers 77 Product Model #WB400	50 Each								
Rolling Tool Box: 28 1/2 inch Overall Width, 12 5/8 inch Overall Depth, 12 inch Overall Height, Padlockable. DeWalt Model # DWST28100	100 Each	United Sales	61.97	6,197 DeWalt	DWST28100		0	3-5 Business days	Award
79 Trash Grabber: Trigger Handle, 36 inch Lg. Unger Model #NT090 ~	100 Each	Aramsco	33.83	3,383 Unger	NT090	Nifty Nabber 36" W/ trigger	13	14	Award



9504 Custodial Equipment and Supplies

AWARD ANALYSIS

Last process date: Aug 4, 2022 11:15 AM Best Bid 2nd Rest Rid id Price Field Bid Value - Bid Price Items Lead Time (in days) **NBOE Comments** Field (USD) 79 Trash Grabber: Trigger Handle, 36 inch Lg. Unger Model #NT090 ~ 100 Each nited Sales 42.5 5 Business days 79 Trash Grabber: Trigger Handle, 36 inch Lg. Unger Model #NT090 ~ 100 Fach PIP Onlne 44 22 4 422 UNGER ทพจดด ame exact as described to 5 days Frash Grabber: Trigger Trash Grabber: Trigger Handle, 36 inch Lg. Unger Handle, 36 inch Lg. Unger 79 Trash Grabber: Trigger Handle, 36 inch Lg. Unger Model #NT090 ~ 100 Each A&M Industrial Inc. 47.28 4,728 Model #NT090 ~ Model #NT090 ~ Trash Grabber: Trigger Handle, 36 inch Lg. Unger Model #NT090 ~ 30 DAYS Garden Hose: Bulk Hose, Kink Garden Hose: Bulk Hose, Kink Resistant, 1 inch Hose Resistant, 1 inch Hose inch Side Diameter., -40° to 190°F, inch Side Diameter.. -40° to Black, 100 ft. Hose Lg. 190°F, Black, 100 ft. Hose Lg. Garden Hose: Bulk Hose, Kink Resistant, 1 inch Hose inch Side Diameter., -40° to 190°F, Black, 100 ft. Hose Lg. Continental Garden Hose: Bulk Hose, Kink Resistant, 1 inch Hose inch Side Diameter., -40° to 190°F, Continental Model #CWH100-Continental Model 80 Black, 100 ft. Hose Lg. Continental Model #CWH100-100-G A&M Industrial Inc. 441.44 44.144 100-G #CWH100-100-G Model #CWH100-100-G 100 Each 45 DAYS Garden Hose: Bulk Hose, Kink Resistant, 1 inch Hose inch Side Diameter., -40° to 190°F, CWH100-100-G 80 Black, 100 ft. Hose Lg. Continental Model #CWH100-100-G nited Sales 515.89 51.589 Continental 100 Each -5 Business days eject, not an approved Zep Lemongrass Extract It equivalent, green product 81 Carpet Cleaner: Bucket, 5 gallon, Liquid, Lemongrass. ZEP Model # 128439 100 Each 64.59 6459 Plus 128423 Liquid Extraction Carpet Cleaner 3-5 Business days not as specified Zep Inc. Green Solutions Carpet Extraction Cleaner - SAFER CHOICE - 8-9PH 2oz per gallon dilution - clear - fragrance free - safe for wool -Green Solutions Carpet Cleaner cleans quickly, penetrates, TO 10 DAYS 81 Carpet Cleaner: Bucket, 5 gallon, Liquid, Lemongrass. ZEP Model # 128439 100 Each PJP Onlne 83.04 8304 SPARTAN 350905 mulsifies and removes soils without oily residue. Safe f Award Carpet Cleaner: Bucket, 5 Carpet Cleaner: Bucket, 5 gallon, Liquid, Lemongrass. gallon, Liquid, Lemongrass. Carpet Cleaner: Bucket, 5 gallon, Liquid, Lemongrass. ZEP Model # 81 Carpet Cleaner: Bucket, 5 gallon, Liquid, Lemongrass. ZEP Model # 128439 100 Each A&M Industrial Inc. 109.50 10,950 ZEP Model # 128439 ZEP Model # 128439 14 DAYS 81 Carpet Cleaner: Bucket, 5 gallon, Liquid, Lemongrass. ZEP Model # 128439 100 Each United Sales 137.94 13,794 ZEP # 128439 -5 Business days Drill Kit: 1/2 inch Chuck Size, Drill Kit: 1/2 inch Chuck Size 2,000 RPM Max. Speed, 2,000 RPM Max. Speed, Brushless Motor, (2) 2.0 Ah, Brushless Motor, (2) 2.0 Ah, Drill Kit: 1/2 inch Chuck Size, 2,000 RPM Max. Speed, Brushless Motor, (2) 2.0 Ah, 20V 20V DC. DeWalt Drill Kit: 1/2 inch Chuck Size, 2,000 RPM Max. Speed, Brushless 20V DC. DeWalt A&M Industrial Inc. 82 DC. DeWalt DCD791D2/DWA2T35IR 100 Each 365.90 36,590 DCD791D2/DWA2T35IR DCD791D2/DWA2T35IR Motor, (2) 2.0 Ah, 20V DC. DeWalt DCD791D2/DWA2T35IR -5 Business days General Purpose Steel-Deck Platform Truck: 3,600 lb. Load Capacity, (2) Rigid (2) Swivel. 83 Little Giant, NBB-3672-8PYBK 50 Each Bid item NLA at this time with Grainger - Big foot ice chopper Ice Chopper/Scraper: 7 inch Blade Width, Wood Handle Material, 39 inch Handle Length, wood handle with steel blade 6.25" blade - 56" handle length -84 Handle Type Straight, 9 1/4 inch Blade Height. Westward Model #12U483 PJP Onlne 22.39 1,746 EMSCO 1207 straight handle 10 TO 15 DAYS 78 Each Award Wire Shelving Unit: Starter, 36 inch x 24 inch, 63 inch. Overall Height, 4 Shelves, Silver, 85 Grainger Model #WR63-2436S WR63-2436S Jnited Sales 434 96 21,748 Grainger 3-5 Business days 50 Fach Award Adjustable Wrench Set: Alloy Adjustable Wrench Set: Steel, Chrome, Cushion Grip, Alloy Steel, Chrome, Cushio Grip, 6 inch to 12 inch. Irwin Vise-Grip Model #2078706 Adjustable Wrench Set: Alloy Steel, Chrome, Cushion Grip, 6 inch to 12 inch. Irwin Vise-Grip Model #2078706 Adjustable Wrench Set: Alloy Steel, Chrome, Cushion Grip, 6 inch to 12 inch. Irwin Vise-6 inch to 12 inch. Irwin Vise-86 Grip Model #2078706 A&M Industrial Inc. 67.25 6,725 Grip Model #2078706 5 DAYS Square Point Shovel: 27 inch Handle Lg, 9 1/4 inch Blade Width, 11 1/4 inch Blade 87 Length, 14 ga Gauge. Westward Model #12V171 100 Each Bolt Cutters: Fiberglass, For Bolt Cutters: Fiberglass, For 9/16 inch Max Diameter Soft 9/16 inch Max Diameter Soft Steel, 36 1/2 inch Overall Steel, 36 1/2 inch Overall Bolt Cutters: Fiberglass, For 9/16 inch Max Diameter Soft Steel, 36 1/2 inch Overall Length. Crescent H.K. Porter | Bolt Cutters: Fiberglass, For 9/16 inch Max Diameter Soft Steel, 36 Length, Crescent H.K. Porter 45 DAYS 88 Length, Crescent H.K. Porter Model #0390FC 1/2 inch Overall Length. Crescent H.K. Porter Model #0390FC 78 Each A&M Industrial Inc 321.55 25,081 Model #0390FC Model #0390FC Award



9504 Custodial Equipment and Supplies

100 Morton Salt Pro Speed Calcium Chloride Crystal Ice Melt 50 lb. Morton #F178840000G

PJP Onlne

78 Each

21.21

1.654 Peladow

AWARD ANALYSIS

Last process date: Aug 4, 2022 11:15 AM Best Bid 2nd Rest Rid id Price Field Bid Value - Bid Price Items Item Description Lead Time (in days) **NBOE Comments** Field (USD) Extension Cord Reel with Extension Cord Reel with Hand Lamp: 50 ft Retractable Hand Lamp: 50 ft Cord Lg, 14 AWG Wire Size, Retractable Cord Lg, 14 AWG NEMA 5-15P. Lumapro Model Wire Size, NEMA 5-15P. Extension Cord Reel with Hand Lamp: 50 ft Retractable Cord Lg, 14 AWG Wire Size, Extension Cord Reel with Hand Lamp: 50 ft Retractable Cord Lg, 14 89 NEMA 5-15P. Lumapro Model #443P50 A&M Industrial Inc. 351 53 35 153 #443P50 Lumapro Model #443P50 AWG Wire Size, NEMA 5-15P. Lumapro Model #443P50 RO DAYS 100 Fach Award Leaf Rake: Steel, 7 inch Length of Tines, 18 inch Overall Width of Tines, Number of tines 90 23. Seymour Midwest Model #43106GRA ~ 200 Each Heavy Duty Plunger: Rubber Plunger, 4 inch Cup Dia., 11 1/4 inch Handle Length, Rubber 91 Handle. Master Plunger Model #MP100-3S PJP Onlne 17.41 1,741 Impact 100 Each 10 to 15 days Impact exact same as described in bid spec Award Impact Driver: 1,450 in-lb. Impact Driver: 1,450 in-lb. Max. Torque, 2,850 RPM Free Max. Torque, 2,850 RPM Speed, Brushless Motor, (2) Free Speed, Brushless Impact Driver: 1,450 in-lb. Max. Torque, 2,850 RPM Free Speed, Brushless Motor, (2) 2.0 2.0 Ah. 12V DC. DeWalt Motor, (2) 2.0 Ah, 12V DC. Impact Driver: 1,450 in-lb. Max. Torque, 2,850 RPM Free Speed, 92 Ah, 12V DC. DeWalt Model #DCF801F2 50 Each A&M Industrial Inc. 214.00 10,700 Model #DCF801F2 DeWalt Model #DCF801F2 Brushless Motor, (2) 2.0 Ah, 12V DC. DeWalt Model #DCF801F2 Award Floor Scrubber: Walk-Behind, Disc Deck, 18 in Cleaning Path, 0.33 Horse Power Vacuum 93 Motor. Lithium Ion Battery Operated. I-MOP Model #1251236 10 Each PJP Onlne 6569.53 65695.3 Tennant Imop 1251236 exact as described 30 to 60 days Award Digital Multimeter, Clamp On Digital Multimeter, Clamp Kit, Test Instrument Included: On Kit, Test Instrument Clamp Meter, Digital cluded: Clamp Meter. Multimeter. Fluke Model # Digital Multimeter, Clamp On Kit, Test Instrument Included: Clamp Digital Multimeter, Clamp On Kit, Test Instrument Included: Clamp Meter, Digital Digital Multimeter. Fluke 94 Multimeter. Fluke Model # 116/323 A&M Industrial Inc. 500.00 Model # 116/323 Meter, Digital Multimeter. Fluke Model # 116/323 45 DAYS Reclaimed Cotton T-Shirt Rags, Assorted Colors, Polo, Low Lint, 25 Lbs. at 3 to 4 per 95 Pound, Box. Pro- Source Mfr# PR0320-C45-PU25 (per case) ~ 500 Cases PJP Onlne 23.62 11,810 INFINITY 83 RG13LB25 COTTON T-SHIRT RAGS, ASSORTED COLORS, 25LBS/ BOX 14 days Award INTERNATIONAL INTERNATIONAL WIPER#15025 Reclaimed WIPER#15025 Reclaimed Cotton T-Shirt Rags. Cotton T-Shirt Rags, Assorted Assorted Colors, Polo, Low Colors, Polo, Low Lint, 25 Lbs. Lint, 25 Lbs. at 3 to 4 per INTERNATIONAL WIPER#15025 Reclaimed Cotton T-Shirt Rags. Reclaimed Cotton T-Shirt Rags, Assorted Colors, Polo, Low Lint, 25 Lbs. at 3 to 4 per 95 Pound, Box. Pro- Source Mfr# PR0320-C45-PU25 (per case) ~ 13,635 at 3 to 4 per Pound, Box. 500 Cases A&M Industrial Inc. 27.27 Pound, Box. Assorted Colors, Polo, Low Lint, 25 Lbs. at 3 to 4 per Pound, Box. 4 DAYS Reclaimed Cotton T-Shirt Rags, Assorted Colors, Polo, Low Lint, 25 Lbs. at 3 to 4 per 14.500 United Sales USRAGS25LBPGB Rags T-Shirt White 25lb. 95 Pound Box Pro-Source Mfr# PR0320-C45-PU25 (per case) ~ 29 00 3-5 Business davs 500 Cases Inited Sales Oil Based Hard Floor Sweeping Compound. Meets all specs of zep 20.38 96 Hard Floor Sweeping Compound. ZEP - HDSWEEP50 100 Fach PJP Onlne 2 038 Norshel Sweep50 to 10 days KLEEN SWEEP #1815 -KLEEN SWEEP #1815 -SWEEPING COMPOUND 50 LB SWEEPING COMPOUND 50 96 Hard Floor Sweeping Compound. ZEP - HDSWEEP50 A&M Industrial Inc. 42.00 4,200 BOX LB BOX KLEEN SWEEP #1815 - SWEEPING COMPOUND 50 LB BOX L4 DAYS 100 Each Sweeping Compound™ is an economical, sweeping compound for 40 units would hard floors such as concrete. request a forecast 96 Hard Floor Sweeping Compound. ZEP - HDSWEEP50 100 Each Zep Inc. 179.00 17,900 Zep Sweeping Compound 230555 - 250 lb drum ceramic tile, and unfinished hardwood awarded up to 15 days. North End Adult Performance 3-in-1 Seam-Sealed Hooded Jacket, North End, North End 100 Each Master Tool Set: 150 Pieces, Metric/SAE, Sockets and Accessories, Case, Stanley Model (STANLEY #97-543 - 150 STANLEY #97-543 - 150 98 94-181 A&M Industrial Inc. 13,943 PIECES MECHANIC SET PIECES MECHANIC SET STANLEY #97-543 - 150 PIECES MECHANIC SET 78 Each 178.75 30 DAYS 99 Zenport MV150/ Professional Vine And Light Tree Lopper, 1.25-Inch Cut, 24-Inch, P14-60 100 Each Snow And Ice Melter.-Calcium Chloride Pellets.-Fast-Acting Moisture-Attracting Formula.-Exothermic.-Effective Down To -25

F.-Odorless

CP-50

Fast-Acting Performance

Peladow Calcium Chloride Pe

Calcium Chloride Pellets Attract Moisture From The Air, Ensuring

1037

usually in stock no lead time



A&M Industrial Inc.

PJP Onlne Aramsco United Sales

9504 Custodial Equipment and Supplies

tens tens with tens tens to the tissue - Scott IR 2PtY 1150 ft /roll 12/Case. Kimberly Clark Modelle 67805 2.000 Cases Wined Sales 7,866 NITANY #5216 Price White, Pisc - Scott IR 2PtY 1150 ft /roll 12/Case. Kimberly Clark Modelle 67805 2.000 Cases Wined Sales 7,866 NITANY #5216 Price White, Pisc - Scott IR 2PtY 1150 ft /roll 12/Case. Kimberly Clark Modelle 67805 2.000 Cases Pip Online Sales 7,866 NITANY #5216 Price White, Pisc - Scott IR 2PtY 1150 ft /roll 12/Case. Kimberly Clark Modelle 67805 2.000 Cases A&M Industrial inc. 99.88 199.788 Kimberly Clark Modelle 67805 2.000 Cases A&M Industrial inc. 99.88 199.788 Kimberly Clark Modelle 67805 2.000 Cases A&M Industrial inc. 99.88 199.788 Kimberly Clark Modelle 67805 2.000 Cases A&M Industrial inc. 99.88 199.788 Kimberly Clark Modelle 67805 2.000 Cases A&M Industrial inc. 99.88 199.788 Kimberly Clark Modelle 67805 2.000 Cases A&M Industrial inc. 99.88 199.788 Kimberly Clark Modelle 67805 2.000 Cases A&M Industrial inc. 99.88 199.788 Kimberly Clark Modelle 67805 2.000 Cases A&M Industrial inc. 99.88 199.788 Kimberly Clark Modelle 67805 2.000 Cases A&M Industrial inc. 99.88 199.788 Kimberly Clark Modelle 67805 2.000 Cases A&M Industrial inc. 99.88 199.788 Kimberly Clark Modelle 67805 2.000 Cases A&M Industrial inc. 99.88 199.788 Kimberly Clark Modelle 67805 2.000 Cases A&M Industrial inc. 99.88 199.788 Kimberly Clark Modelle 67805 2.000 Cases A&M Industrial inc. 99.88 199.788 Kimberly Clark Modelle 67805 2.000 Cases Tollet Tissue - Scott IR 2PtY 1150 ft /roll 12/Case. Kimberly Clark Modelle 67805 2.000 Cases Tollet Tissue - Scott IR 2PtY 1150 ft /roll 12/Case. Kimberly Clark Modelle 67805 2.000 Cases A&M Industrial inc. 99.88 199.788 Kimberly Clark Modelle 67805 2.000 Cases Tollet Tissue - Scott IR 2PtY 1150 ft /roll 12/Case. Kimberly Clark Modelle 67805 2.000 Cases Tollet Tissue - Scott IR 2PtY 1150 ft /roll 12/Case. Kimberly Clark Modelle 67805 2.000 Cases Tollet Tissue - Scott IR 2PtY									2nd Best Bid			t process date: Aug 4, 2022 11:15 AM
101 Corolless Toilet Tissue - Scott JR 2PLY 1150 ft./roil 12/Case. Kimberly Clark Modelli 67805 2,000 Cases	s) NBOE Comme	k Lead Time (in days)		Item Description		Brand/Manufacturer					Quantity	w# Items
Coreless Toillet Tissue - Scott R 2PLY 1150 ft, /roil 12/Case. Kimberly Clark Modelii 67805 2,000 Cases A&M industrial Inc. 99.89 199,780 Kimberly Clark Modelii 67805 199,780 Kimberly Clark Modelii 67805 2,000 Cases A&M industrial Inc. 99.89 199,780 Kimberly Clark Modelii 67805 2,000 Cases Ammsco 16.53 213,060 Kimberly Clark Modelii 67805 2,000 Cases Ammsco 16.53 213,060 Kimberly Clark Modelii 67805 2,000 Cases Ammsco 16.53 213,060 Kimberly Clark Modelii 67805 2,000 Cases Ammsco 16.53 213,060 Kimberly Clark Modelii 67805 2,000 Cases Ammsco 16.53 213,060 Kimberly Clark Modelii 67805 2,000 Cases Ammsco 16.53 213,060 Kimberly Clark 67805 2,000 Cases	Reject, not an appro equivalent, roll leng as specified	3-5 Business days	150	FITS IN THE CURRENT DISPENSER	216	NITTANY	72,360	36.18	United Sales	Cases	2,000	101 Coreless Toilet Tissue - Scott JR 2PLY 1150 ft./roll 12/Case. Kimberly Clark Model# 67805
Coreless Toilet Tissue - Scott JR ZPLY 1150 ft,/foil 12/Case. Kimberly Clark Model# 67805 2,000 Cases A&M Industrial Inc. 99.89 199,780 Kimberly Clark Model# 67805 Noberly Clark Noberly Clar	Award	3-5 Business days	110			KIMBERLY CLARK	116,500	58.25	PJP Onlne	Cases	2,000	101 Coreless Toilet Tissue - Scott JR 2PLY 1150 ft./roll 12/Case. Kimberly Clark Model# 67805
101 Coreless Toillet Tissue - Scott JR 2PLY 1150 ft./roll 12/Case. Kimberly Clark Model#67805 2,000 Cases Aramsco 106.53 213,060 Kimberly Clark Roll Towel White, PK6: White, 8 inch. Roll Width, 950 ft. Roll Length, 6 Pk. Kimberly Clark Roll Towel White, PK6: White, 8 inch. Roll Width, 950 ft. Roll Length, 6 Pk. Kimberly Clark Roll Towel White, PK6: White, 8 inch. Roll Width, 950 ft. Roll Length, 6 Pk. Kimberly Clark Roll Towel White, PK6: White, 8 inch. Roll Width, 950 ft. Roll Length, 6 Pk. Kimberly Clark Roll Width, 950 ft. Roll Length, 6 Pk. Kimberly Clark Roll Towel White, PK6: White, 8 inch. Roll Width, 950 ft. Roll Length, 6 Pk. Kimberly Clark Roll Width, 950 ft. Roll Length, 6 Pk. Kimberly Clark Roll Width, 950 ft. Roll Length, 6 Pk. Kimberly Clark Roll Width, 950 ft. Roll Length, 6 Pk. Kimberly Clark Roll Width, 950 ft. Roll Length, 6 Pk. Kimberly Clark Roll Width, 950 ft. Roll Length, 6 Pk. Kimberly Clark Roll Width, 950 ft. Roll Length, 6 Pk. Kimberly Clark Roll Width, 950 ft. Roll Length, 6 Pk. Kimberly Clark Roll Width, 950 ft. Roll Length, 6 Pk. Kimberly Clark Roll Width, 950 ft. Roll Length, 6 Pk. Kimberly Clark Roll Width, 950 ft. Roll Length, 6 Pk. Kimberly Clark Roll Width, 950 ft. Roll Length, 6 Pk. Kimberly Clark Roll Width, 950 ft. Roll Length, 6 Pk. Kimberly Clark Roll Width, 950 ft. Roll Length, 6 Pk. Kimberly Clark Roll Width, 950 ft. Roll Length, 6 Pk. Kimberly Clark Roll Width, 950 ft. Roll Length, 6 Pk. Kimberly Clark Roll Width, 950 ft. Roll Length, 6 Pk. Kimberly Clark Roll Width, 950 ft. Roll Length, 6 Pk. Kimberly Clark Roll Fight Capacity Hard Roll Towels for Business, Absorbency		30 DAYS	0	Coreless Toilet Tissue - Scott JR 2PLY 1150 ft./roll 12/Case.	2PLY 1150 ft./roll 'Case. Kimberly Clark	JR 2PLY 1150 ft./roll 12/Case.		99.89	A&M Industrial Inc.	Cases	2,000	101 Coreless Toilet Tissue - Scott JR 2PLY 1150 ft./roll 12/Case. Kimberly Clark Model# 67805
102 Model #02000 Each Spruce industries 30.49 60.980 LEGACY PAPER #400-08 EACH ROLL!!!!! 100 CASES 7 Roll Towel White, PK6: White, 8 inch. Roll Width, 950 ft. Roll Length, 6 Pk. Kimberly Clark 2,000 Each United Sales 51.85 103,700 NITTANY #6950EW FITS IN THE CURRENT DISPENSER 150 3-58 business days Roll Towel White, PK6: White, 8 inch. Roll Width, 950 ft. Roll Length, 6 Pk. Kimberly Clark Roll Length, 6 Pk. Kimberly Clark PJP Onlne 60.66 121,320 KIMBERLY CLARK (C02000 As Specified 110 3-58 business days) Roll Towel White, PK6: White, 8 inch. Roll Width, 950 ft. Roll Length, 6 Pk. Kimberly Clark Roll Length, 6 Pk. Kimberly Clark Sinch. Roll Width, 950 ft. Roll Length, 6 Pk. Kimberly Clark Length, 6 Pk. Kimberly Clark Length, 6 Pk. Kimberly Clark Roll Length, 6 Pk. Kimberly Clark Roll Length, 6 Pk. Kimberly Clark Roll Towel White, PK6: White, 8 inch. Roll Width, 950 ft. Roll Length, 6 Pk. Kimberly Clark Roll Towel White, PK6: White, 8 inch. Roll Width, 950 ft. Roll Length, 6 Pk. Kimberly Clark Roll Towel Roll Towel White, PK6: White, 8 inch. Roll Width, 950 ft. Roll Length, 6 Pk. Kimberly Clark Roll Towel Rol		14	0	•		Kimberly Clark	213,060	106.53	Aramsco	Cases	2,000	101 Coreless Toilet Tissue - Scott JR 2PLY 1150 ft./roll 12/Case. Kimberly Clark Model# 67805
102 Model #02000 2,000 Each United Sales 51.85 103,700 NITTANY #6950EW FITS IN THE CURRENT DISPENSER 150 3-5 Business days Roll Towel White, PKG: White, 8 inch. Roll Width, 950 ft. Roll Length, 6 Pk. Kimberly Clark 2,000 Each PJP Onlne 60.66 121,320 KIMBERLY CLARK KC02000 As Specified 110 3-5 Business days Roll Towel White, PKG: White, 8 inch. Roll Width, 950 ft. Roll Length, 6 Pk. Kimberly Clark Roll Towel White, PKG: White, 8 inch. Roll Width, 950 ft. Roll Length, 6 Pk. Kimberly Clark Roll Towel White, PKG: White, 8 inch. Roll Width, 950 ft. Roll Length, 6 Pk. Kimberly Clark Model #02000 Roll Towel White, PKG: White, 8 inch. Roll Width, 950 ft. Roll Length, 6 Pk. Kimberly Clark Model #02000 Roll Towel White, PKG: White, 8 inch. Roll Width, 950 ft. Roll Length, 6 Pk. Kimberly Clark Model #02000 0 30 DAYS	Reject, not an appro equivalent, roll leng as specified	7	100 CASES		000-08	LEGACY PAPER	60,980	30.49	Spruce Industries	Each	2,000	· · · · · · · · · · · · · · · · · · ·
Model #02000 Each PJP Onlne 60.66 121,320 KIMBERLY CLARK KC02000 As Specified 110 3-5 Business days Roll Towel White, PK6: White, 8 inch. Roll Width, 950 ft. Roll Length, 6 Pk. Kimberly Clark Roll Towel White, PK6: White, 8 inch. Roll Width, 950 ft. Roll Length, 6 Pk. Kimberly Clark Roll Towel White, PK6: White, 8 inch. Roll Width, 950 ft. Roll Length, 6 Pk. Kimberly Clark Model #02000 Fach A&M Industrial Inc. 99.89 199,780 Model #02000 Roll Towel White, PK6: White, 8 inch. Roll Width, 950 ft. Roll Length, 6 Pk. Kimberly Clark Model #02000 Fach A&M Industrial Inc. Py. 89.89 199,780 Model #02000 Roll Towel White, PK6: White, 8 inch. Roll Width, 950 ft. Roll Length, 6 Pk. Kimberly Clark Model #02000 Fach A&M Industrial Inc. Py. 89.89 199,780 Model #02000 Roll Towel White, PK6: White, 8 inch. Roll Width, 950 ft. Roll Length, 6 Pk. Kimberly Clark Model #02000 Fach A&M Industrial Inc. Py. 89.89 199,780 Model #02000 Roll Towel White, PK6: White, 8 inch. Roll Width, 950 ft. Roll Length, 6 Pk. Kimberly Clark Model #02000 Fach A&M Industrial Inc. Py. 89.89 199,780 Model #02000 Essential High Capacity Hard Roll Towels for Business, Absorbency	Reject, not an appro equivalent, roll leng as specified	3-5 Business days	150	FITS IN THE CURRENT DISPENSER	950EW	NITTANY	103,700	51.85	United Sales	Each	2,000	•
Roll Towel White, PK6: White, 8 inch. Roll Width, 950 ft. Roll Length, 6 Pk. Kimberly Clark Model #02000 Each A&M Industrial Inc. 99.89 199,780 Model #02000 Roll Towel White, PK6: White, 8 inch. Roll Width, 950 ft. Roll Length, 6 Pk. Kimberly Clark Model #02000 Roll Towel White, PK6: White, 8 inch. Roll Width, 950 ft. Roll Length, 6 Pk. Kimberly Clark Model #02000 Roll Towel White, PK6: White, 8 inch. Roll Width, 950 ft. Roll Length, 6 Pk. Kimberly Clark Model #02000 0 30 DAYS Roll Towel White, PK6: White, 8 inch. Roll Width, 950 ft. Roll Length, 6 Pk. Kimberly Clark Model #02000 0 30 DAYS Essential High Capacity Hard Roll Towels for Business, Absorbency	Award	3-5 Business days	110	As Specified			121,320	60.66	PJP Onlne	Each	2,000	· · · · · · · · · · · · · · · · · · ·
		30 DAYS	0	· · · · · · · · · · · · · · · · · · ·	ite, 8 inch. Roll Width,) ft. Roll Length, 6 Pk. nberly Clark Model	Roll Towel White,PK6: White, 8 inch. Roll Width, 950 ft. Roll Length, 6 Pk. Kimberly Clark		99.89	A&M Industrial Inc.	Each	2,000	, , ,
		14	0			Kimberly Clark	225,440	112.72	Aramsco	Each	2,000	Roll Towel White,PK6: White, 8 inch. Roll Width, 950 ft. Roll Length, 6 Pk. Kimberly Clark 102 Model #02000
Total 12,777 Zep Inc. 24,359 Spruce Industries 354,118											12,777	Total

354,118 419,325 694,260 939,170 1,034,436